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1. If the points P, = (1,1), P> = (3,1) and Py = (5,12) lie on the graph of y = f(z)
and the slope of the secant line through P; and P, is 2 and the slope of the secant
line through P; and Ps is —1, then f(3) + f(5) =

(a) 2 (correct)
(b) 1
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2. Which one of the following statements is always true?

(a) If lim f(z) = —oco,thenz =aisa vertical asymptote. (correct)

Ir—a

(b) If lim flz) = f(a)= lim_ f(z), then f is differentiable at a.

(c) If hln f(z) and hm g(z) do not exist, then lim f(z)g(z) does not exist.
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3. If f(z) = { ;2” iii then f(1) — lim f(z) =

Q426 4+ 19

(a) —~a (correct)
(b) 2 P
(c) 0 ‘ _ A ) =
(d) 3 /g L9 }b;:) \
(e) does not exist o K“\ +3] = A RPN eal
4. If y = x + 4 is the tangent line to f(z) = ky/z at (a, f(a)), then a + k =
Q73 190
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(correct)

The value of a that makes f continuous is

I f(z) = i _iz =h. then f'(1) =
Sln\'\\c\/{v h;@ :“: 1_* (; ’\)(\_%}7_ \%q
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a) f has a non-removable discontinuity at z = 2. (correct)
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7. Let
1
f(L') i El + 1, 1
3—ux, 32
then
(
(b) f has a removable discontinuity at z = 2.

(d l]mf( ) exists.

(©) lim f(z) = £(2).
T — -2
8. lim Ll + lim = =

z—2- T — 2 z—2+ I:L = 2]
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(c) f is continuous at z = 2.
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3+ 8
9. ngn{) = 16
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(correct)

(e) does not exist

r—cosz + 1
10. lim ———I+— =
z—=0 2r+sinz
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V326 + cosz

g rhmx 273 +sinz
V3
(d) _7 (correct)
(b) +o0
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14. The number of vertical asymptotes the function f(z) = : has in the interval
[—m, 7] is anx
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15. lim [ — —sin— | =
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16. The equation of the tangent line to the curve y = vz —1+2 at the point (1,2) is
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(a) z=1 (correct)
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. i , 1Y .
17. The slope of the tangent line to the curve y = I at the point <3. 5) is
T — 2
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18. The sum of all values of z in [0,27) at which the function f(z) = = + cosz has a
horizontal tangent line is equal to

Sinilay be WA BT e D

(21) _2_ (correct)
l 3T ) )

(b) Y The me{‘(m ot l’\w«gmbj "tmgé‘lf
(c) m :

((1) o ‘l(\jL W\’\.ﬂ/f\ ’f(/x) 2 0

(e) 3m - pu)v—l—~§'ﬂ’( =8

—:) Ss")X: i- ;/) [O, 2”“)

5 %22 gty als)




Answer KEY

Math 101, 232, Major Exam I

by
o
msvahmaun w| 2| 8| »|] =] =] 2] 2] ~
SRR ARRE MR @O P m|<|alw|©
O
(a2}
o
Msnn7anum2nwuw50nuu
oRRLILRIDIAIn Al<l|l<m|< (RO |m
O
o
o
m....l..nuws:uwvuvu:ann
oIS =|<dalo|<|m mi<|mmloa@m|<
O
i
D
Maavunnmmaauuuaun:n
oRlPIRAarRRRPDIC|C<RCICIOM |«
O
e
[ca]
MAAAAAAAA B B Y B e B e
=
Ol | |e [« |p o~ fo|a |22 DR RS (S |R




